EXAM M QUESTIONS OF THE WEEK

S. Broverman, 2006

Week of April 3/06

Aggregate claims.S follow a compound distribution with a Poisson frequency distribution NV
with mean 1, and a geometric severity distribution X with probability function

P(X =j) = ufT , for j=0,1,2,...

Itisfoundthat E[S|S > 0] =

Determine E(X) .

N
2—2e~1/3

The solution can be found below.



Week of April 3/06 - Solution

E(X)=0.
S is a non-negative integer-valued random variable with probability function
P(S = k) =gk -

E[SIS > 0] = Sk - P(S = K|S > 0) = 2k L5ty = £y

The severity distribution is geometric Wlth P( =0) = 1+6
E(S)=E(N) - E(X)=(1)(8)=8.

P(§=0)=g0= EP( = 0[N =k)-P(N =F)

P(X; =0NXy = 0N NXp= 0N =k)- P(N = k) = 3 e
0 k=0
~1. U (46) — o—B/(146)
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_ E(S) — 8 _ 1 _ .5
E[S|S > O] = I-P(S=0) — 1-e AlB) — 2-2¢18 — 1_¢ 5/0+5) "

Weseethat g =.5 .



